0) Baza C7;
stan plecaka: 3 zarcia, 3 liny, tlen, aparat
1) D8 (1 PA); odkrywam kafel #3 na E8 (1 PA); do Bazy C7 (1 PA) (razem 3PA)
2) D8 (1 PA); E8 (2 PA) poreczéwka na 25 m (2 pkty + 3 pkty); D8 (1 PA); do Bazy C7 (1 PA) +5 PZ; 5 PZ; (razem 5PA)
stan plecaka: 3 zarcia, 2 liny, tlen, aparat
3) D8 (1 PA); E8 (1 PA); odkrywam kafel #4 na E7 (1 PA); D8 (1 PA); do Bazy C7 (1 PA) (razem 5PA)
4) D8 (1 PA); E8 (1 PA); odkrywam kafel #5 na E9 (1 PA); D8 (1 PA); do Bazy C7 (1 PA) (razem 5PA)
5) D8 (1 PA); E8 (1 PA); E7 (2 PA) poreczdwka na 50 m (2 pkty + 4 pkty); odkrywam kafel #7 na E6 (1 PA)
+6 PZ; 11 PZ; (razem 5PA)
stan plecaka: 3 zarcia, 1 lina, tlen, aparat
6) spozywam Zzarcie; E6 (2 PA) poreczowka na 75 m (2 pkty + 5 pktdw); E7 (1 PA); E8 (1 PA); +7 PZ; 18 PZ; (razem 4PA)
stan plecaka: 2 zarcia, 0 lin, tlen, aparat
7) spozywam Zzarcie; E9 (2 PA) z nurkowaniem (3 pkty); E8 (1 PA); D8 (1 PA); do Bazy C7 (1 PA) +3 PZ; 21 PZ; (razem 5PA)
stan plecaka: 1 zarcia, 0 lin, % tlen, aparat
8) B6 (I PA); odkrywam kafel #2 na B5 (1 PA); do Bazy C7 (1 PA) (razem 3PA)
9) D6 (1 PA); odkrywam kafel #1 na D5 (1 PA); do Bazy C7 (1 PA) (razem 3PA)
10) D6 (1 PA); D5 (1 PA); odkrywam kafel #6 na C5 (1 PA); D6 (1 PA); do Bazy C7 (1 PA) (razem 5PA)
11) B6 (1 PA); B5 (2 PA) robie zacisk | (2 pkty); C5 (2 PA) robie zacisk | (2 pkty); +4 PZ; 25 PZ; (razem 5PA)
12) spozywam Zzarcie; D5 (2 PA) z foto (2 pkty); D6 (1 PA); do Bazy C7 (1 PA) +2 PZ; 27 PZ; (razem 4PA)

stan plecaka: 0 zarcia, 0 lin, % tlen, aparat
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